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Maiden, maiden, the maiden — 7P Y

Overview

The X723 explains that we derive that there is a requirement for a 0IX» to also
pay 01p if he is DIX% a XY 270 or MN™3 *2»n from the 7109 in DIXA DYWL,
One P09 states 31 792 (7)1 WK X¥» *3; and the following 09 states:
"3 0D DWwnn (7)7WIn "aR? ay 20wh R 1. The Xn) expresses this 707
as (three times) 7737 77v1 71 one for a ‘regular’ 79¥1, one for PIRY 21
and one for Mn°12 *2%n. "W explains this 7% as follows. We derive from
the first 105 which states (7)7v1 w K Xx»° °3, that 01p is paid to a regular 77Wv1.
The word (77)7¥377 in the second 05 is superfluous; the 7™n could have
written "3 7°2R% "N 3nn. We can derive two 227127 from the extra word
(7)7v17; one from the word (71)7vi(77) and one from the extra X" at the
beginning of the word (77)7v177. Our MdoIn will offer a different interpretation
of the X713, and subsequently reject it.

— DI 7701 U1 RN9N 7913 WTT 2701 TINT IR0 1111 LD
The "' explained that from one of the times that 79w1 is written in the
7wn9 of *oi1xn, we derive the entire teaching (that o31p is paid to a regular
773, a 71 of IR °2>°1, and a 7wl of M2 °2°°1); the P10D writes 21 from
which we derive a regular 717¥1; we read it 79¥1 from which we derive a 771
of XY *2»n1; the P09 adds the additional X"i7 at the beginning of the word,
79¥17, to include even Mn>1> .3

Mmoo questions this interpretation:
= M"TINY U1 OW N'XNINT R100 RINR X032 NIN 1701 2'N3 897 00 112719 AKX '\

And the n'9 does not favor this interpretation, since the word 79¥1 is not
written out completely with a R''77 at the end, by the w75 of tixn; only by

the 72D of ¥ aw 82 alone is 77w written with a X"7 at the end”. All other times
it is written merely 7¥1 without the last X" -

- ’I'P7139 Moa nanTa
As it is evident in the end of our P95. Therefore how can we derive three
teachings?! We can only derive two lessons one from =¥1 and the other from =¥i7; but
nothing from (77)7v17.

"v3-m5 ,20 [X¥n] @™27. The parenthesized X"77 at the end of (77)7v17 in this NN is used to indicate that this
X"7 is not written in the 7710, merely ¥1, but it is pronounced as if it were written 77v1 with a X" at the
end.

2 The n" is referring to the second 2109 in ©1¥n NWw15 which reads (7)7w37 2K "3 .

? See the 1" on the 7" who explains the 1" nww (differently).
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mdoIn has an additional question on the 1" w17°0:
= 1791 RI"MNK 7701 RI'R N 01919 TN IR 0N pnXT 11'3171 Awpn 1

And the »''9 asks, furthermore, why is it necessary to have one lesson for
the regular 77v1, when 7791 is written another time® in the 727D of o,

mooIn concludes:
= 1pP'0 010npPa win'g NIN

But rather, s'"w" interpretation’ is the correct one.

Summary
The "9 derives from the word (77)7v17 that 01p is paid to a regular 771, to

XY °2%17, and Mn»> °2n. One difficulty with this is that (7)1 is written
without a X"7. Another difficulty is that are regular 77¥1 is already indicated
in the previous ?05. The interpretation of *"wA is preferable.

Thinking it over
Why did the 1" refuse to accept *"w5?"

% mooin is referring to the first 7105 of DIX» NWID where it states "3 72902 (7)1 WX XY *2.,
7 See ‘Overview’.
¥ See 1x mIX 7"
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